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Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.

This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are
requested to open the booklet and compulsorily examine it
as below :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not accept
an open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the question
booklet will be replaced nor any extra time will be
given.

(iii)  After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the
OMR Sheet Number should be entered on this Test
Booklet.

Each item has four alternative responses marked (A), (B),

(C) and (D). You have to darken the oval as indicated

below on the correct response against each item.

Brample: (D ®

where (C) is the correct response.

Your responses to the items are to be indicated in the Answer
Sheet given inside the Paper I booklet only. If you mark
at any place other than in the ovals in the Answer Sheet, it
will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the
test booklet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render
yourself liable to disqualification.

You have to return the test question booklet to the
invigilators at the end of the examination compulsorily
and must not carry it with you outside the Examination
Hall.

10. Use only Blue/Black Ball point pen.
11. Use of any calculator or log table etc., is prohibited.

12. There is NO negative marking.
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ECONOMICS
PAPER —1II

Note : This paper contains fifty (50) multiple choice questions, each question carrying

two (2) marks. Attempt all of them.

The concept of consumers surplus was coined by :
(A) Ricardo (B) Fisher (C) Marshall (D) Pigou

For complementary goods the indifference curve takes the shape of :
(A) a straight line (B) a downward sloping line
(C) aright angle (D) anegatively sloped curve

PAUL M SWEEZY used kinked demand curve to explain :
(A) Price determination in oligopoly (B) Price rigidity in oligopoly
(C) Profit maximisation in oligopoly (D) Price output determination in oligopoly

According to Phillips curve when rate of inflation increases, then rate of :
(A) unemployment also increases

(B) unemployment decreases

(C) unemployment will remain constant

(D) Full employment will prevail

According to Milton Friedman quantity theory of money is the theory of :
(A) Prices (B) Income
(C) Demand for money (D) Supply of money

As per the hypothesis of Rational expectations in guessing the future economic
agents :

(A) are always right (B) are always wrong
(C) make systematic errors (D) make random errors

According to Marx increase in the organic composition of capital leads to :
(A) increase in the rate of growth of economy

(B) increase in employment

(C) decrease in the rate of profit
(D) increase in the rate of profit

Which of the following feature is not a universally observed in under developed
countries ?

(A) Low per capita income (B) High density of population
(C) Higher share of agriculture in G.D.P. (D) Low literacy rate
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gIuA—11
Me: U YEIS # U= (50) TEHE U 1 USRS T F A (2) i 1wl ywH F IW
IS
YT o=d & fagTa i uRereu 37 9 foaes g wfaufea st et ?
(A) et (B) fwR (C) mefa (D) fuy
ek g3l o fAT STARER a5k (indifference curve) 1 TR 390 9 fohd YR 1 Bl © 2
(A) et (B) I T AR g1 T
(C) HH&IT (D) SRUH Bl sk

Tia.TA. fast 7 399 9 fordent e o3 & o fohes @i sk 61 9= fohanm o ?
(A) 3T § shiad freio (B)  3ACUITYRR H shiHd ST (Price rigidity)
(C) SAcufesR H oY sifyeradentsl (D) STeuidehR | shivd fia feam

TR =k &% STIER W& g1 Thifd ot <X Afeeh 2t © e

(A) SRS off st © (B) SRISWIRI i & Y &It §

(C)  ISTTRY feer Tft (D) o AR i feerfa 2rft

e TRIeHA & STTER g1 o1 gRemers fag s § fha fagma @ awafem g2
(A) a1 fagr (B) o =1 fagr

(C) =1 fore =i 1 frgra (D) & =t ufd = fagra

Toh T AT hi TRl o STTHR HIEl Hifd 1 STIHM o o foe hifele weie -
(A) THIM T AT (B)  THTM Terd 1 &

(C) wafeer Ffeal &d & (D) Ao Ffeal o

W%Wﬁaﬁww (organic composition of capital) o gfg T4 4§ fordent
3R STTHT A @ 2

(A) AefETe &I fowd X ¥ gfg (B) ISR H gfg

(C) o4 i ST H (D) <4 % R H gfg

stfaerfaa e # frefafed 8 sF- @& o= 721 fiem ?
(A) YideafeR TeudH ™

B) SHEEA hl 3 A

Yehel | S | HT &1 a1 T9FT (G.D.P.)

7= ramar X
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10.

11.
12.
13.

14.

15.
16.

17.

In which of the following growth models human capital plays an important role ?
(A) Neo - Classical Model (B) Endogenous Growth Model
(C) Marxian Model (D) Harrod - Domar Model

For the first time in India zero base budgeting was implemented in the finance
ministership of :

(A) P. Chidambaram (B) Manmohan Singh
(C©) V.P.Singh (D) Jaswant Singh

Gadgil formula is applicable to :
(A) Grants given by planning commission
(B) Grants given by Finance commission
(C) Grants given by RBI
(D) Grants given by Foreign Countries
Excess burden of tax means :
(A) The net welfare loss from a tax
B) Very heavy burden
) Burden over and above the money burden
D) Money burden and Real burden

Leontief Paradox on the factor composition of US imports and exports :
(A) Supports Heckscher - Ohlin model

(B) Refutes Heckscher - Ohlin model

(C) Supports Prebish - Singer model

(D) Refutes Prebish - Singer model

To how many countries, India offered to supply the services such as - Legal, health,
social and placement etc. ?

(A) 30 countries (B) 27 countries
(C) 49 countries (D) 5 countries

One of the important factors in trade reforms is to :
(A) increase export duties (B) reduce import duties
(C) keep export duties constant (D) keep import duties constant

As per the 61st NSS Round (2004 - 05), going by the mixed return period, the poverty
ratio at the national level was :

(A) 27.8% (B) 22.00% (C) 25% (D) 17%

The share of India’s agricultural exports in the total exports in the year 2001 - 02 was :
(A) 31.7% (B) 30.6% (C) 19.4% (D) 14%
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frefafas o 9 fFa afea (vsfa) § Ama-dst =t Teeyul i Bt €2

(A) TTI-GEATH Hied (B) er=I=iia fashrd Hied
(C) wrarR Aied (D) &le-<rR disd

AT § 9gel! o) g-3muR’ ssfe fhe foa w3ft & shrferral | aifiia gat|
(A) . fagmRy (B) WwTHIEA f&g

(C) i fog (D) <wa= fog

TMefTe wier fovd T @r] 2 €2

(A) IS SN g 9S4 $TEA W (B)  ford 31 g1 9o 31deH W
(C) SRS 3TE g Yed STIeH W (D) faeell g Yed TEH W

FR o AN IR 1 Hded ¢ :
(A) G e Fweamn w7 (B) g AfHrem WR
(C) W& ¥R & W 3R R (D) H&T ¥R 3R ardfaes 9R

T T LRI o - Taid | Scire |ieH S He4 § Aiaw foienys
(A) TR - SWfe gSfd 1 Tmeid Y §

(B) TR - 3Nfe USfa 1 WUed &l §

(C) Uferwr - fR vgfa 1 TmeA & §

(D) Ufsrer - foR ugfa o1 wed & §

IRd 3 FeRae <9 1 Fenfen, Toreen, e iR Fgfaqar enfe deneii &t emufd & ford
& femam 2

(A) 30 (B) 27 < (C) 49 3 (D) 539
SR YUR % Ty T Heeqof 9 ¢ -
(A) & (k) ° gfs (B) 3TEId T (k) H A

(C) i X (Feeh) ol Feer T (D) 37T T Yook ohl Tl @

619 TT TH TH =5k (2004 - 05) & 6, fufya devd safy o, U X  fean

SIIIT o1 .
(A) 27.8% (B) 22.00% (S 25% (D) 17%

IH 2001 - 02 H Pt Fafd § wRdra $fv faid st arieRy of :
(A) 31.7% (B) 30.6% Q) 19.4% (D) 14%
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18.

19.

20.

21.

22.

23.

The probability distribution in which mean and variance are equal :
(A) Poisson (B) Binomial
(C) NORMAL (D) Chi-square (x?)

Tg test HO : w=w against Hy : p#pg in case of N(p, 62) where ¢2 is known, H;, is
rejected if :

OEERE S ® ¥ mols
T e N
_ S — S
(C) X — MO ‘Zﬁta/z(n—l) (D) X — MO ‘<ﬁta/2(l’l—l)

The regression coefficient is independent of :
(A) change of origin and scale

(B) change of origin only
(C
(

) change of scale only
D) Neither change of origin nor change of scale

Consider the following statements and select correct answer from the code given below
for question nos. 21 to 30 :

Assertion (A) : Long run Phillips curve is a vertical line at the NAIRU.

Reason (R) : Non - accelerating inflation rate of unemployment, more or less, stands
accepted.

(A) Both (A) and (R) are false

(B) Both (A) and (R) are true but (R) is not the reason

(C) Both (A) and (R) are true and (R) is the explanation

(D) (A) is true, (R) is false

Assertion (A) : Factor price ratio is irrelevant in deciding the level of output.
Reason (R) : Fixes coefficients production function prevails.

(A) Both (A) and (R) are true but (R) is not the explanation

(B) Both (A) and (R) are false

(C) Both (A) and (R) are true and (R) is the explanation

(D) (A) is true but (R) is false

Assertion (A) : One brand of non neutral terminal progress is as good as the other, in
the context of models of steady state growth.

Reason (R) : The elasticity of substitution of production function equals one.
(A) Both (A) and (R) are false

(B) Both (A) and (R) are true

(C) (A)is true, (R) is false

(D) (A) is false, (R) is true

J—0108 6
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18.

19.

20.

21.

22.

23.

Yiforehan sied Tored Ared (3ia) i =R aeR B © ¢
(A) TiedsH (B) @mEAHAA (C) A (D) WE-FEN (x?)

Hy:p=po B H; : p=p, b fole 3 ol & fag afc N, o2), Sefd o2 91 &, 99 H,
ol iR @l foRan S Afe

(¢ (¢

&) = wo[>7=z, B) |- ro[s =2,

(@) x— Ko ‘Z%ta&(n—l) (D) x— Ko ‘<%ta/2(n—l)

et Tqorieh 39 9 foRe® waa 2 €2

(A) AR (origin) IR STIAT 1 TRETH (B) had Icafd w1 qREdA

(C) Hael TTHTY I TREA (D) 1 3 & IR A TTAM & IRadq 9

feuqoit : gvT Q&I 21 | 30 % [od (REafciiaad &1 Ut faam &ifsrd aor @4 79 Fe @
et ST B |

FUA (A) : A T TR 9k T T M AR 3 ot uffeafd § @< W@ 7

Th (R) :  SKISFIR i TRIfG T T TRV, ST, A feram = )

(A) T (A) 3R (R) Tord ¥ |

(B) i (A) 3R (R) W&l T 3R (R) SHeRI BRI Tl < |

(C) =i (A) 3R (R) W& § 3R (R) Wt =1 |

(D) (A) ¥ ¥, (R) 7o g1

FHUF (A) : SIS T TR TG 3 § WIeA HiHa STHUE eeeH |
TH (R) :  FifRa o Scarer Yehrd e © |

(A) THI(A) 3R (R) §&l T W (R) AT 7 ¢ |

(B) THI (A) 3R (R) Terd ¥ |

(C) T (A) 3R (R) W& T 3R (R) &= T

(D) (A) 5@ g, T (R) T |

Fe (A) : Tomm &1 dgfera feafa =t ugfa & ded § stqese Wefiwr wifd &t t& i
3t 2 Stk © foa fop g |

TH (R) :  Scdred faee o wfaeeme ot e T T

(A) T (A) 3R (R) Tord 1

(B) T (A) 3R (R) ¥l 1

Q) (A) T (R) o T

(D) (A) 7 ¥, (R) ¥l € |
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24.

25.

26.

27.

28.

Assertion (A) : In the heydays of planning Amartya Sen advocated the adoption of
capital intensive technique for Indian.

Reason (R) : India was a relatively labour abundant country.
(A) Both (A) and (R) are true and (R) is the explanation.

(B) (A) is true but (R) is false

(©

(D)

Both (A) and (R) are true but (R) is not the correct explanation
(A) is false but (R) is true

Assertion (A) : India is a favoured destination for the Western Business process
outsourcing.

Reason (R) : India has a large pool of English speaking population.
(A) Both (A) and (R) are true and (R) is the explanation

(B) Both (A) and (R) are false

(C) (A)is false, (R) is true

(D) Both (A) and (R) are true but (R) is not the explanation

Assertion (A) : Indian economy is on a higher growth trajectory in the post - Reforms
era.

Reason (R) : Trade is an engine of growth.

(A) (A)is true and (R) is false

B) Both (A) and (R) are true but (R) is not the explanation
Both (A) and (R) are true and (R) is the explanation
Both (A) and (R) are true

Assertion (A) : Business cycles are an experienced reality.
Reason (R) : Innovations are an act of “creative destruction”.
(A) Both (A) and (R) false

B) Both (A) and (R) correct but (R) need not be the explanation
Both (A) and (R) are true and (R) is the explanation

(A) is false (R) is true

Assertion (A) : Neutral taxes are feasible.

Reason (R) : Neutral taxes have no excess burden.

(A) Both (A) and (R) true and (R) is the explanation

(B) Both (A) and (R) are true but (R) is not the explanation
(C) (A) is false but (R) is true

(D) (A) is true but (R) is false

J—0108 8
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24.

25.

26.

27.

28.

FUH (A) : AT F @ w § o0t U9 7 IR * fow weq dei drenfent & faswed
Torfuq fan |

Th (R) :  TRA FTUETTAT FH-TH <0 o1 |

(A) IH (A) 3R (R) TE T (R) SHH! AR T |

(B) (A) W&l € W (R) TTowd €|

(C) i (A) 3R (R) e & W (R) W& = & €

(D) (A) TTerd B, T (R) W&l € |

FUF (A) : TRA U= SR Yfhan aerEa’ % faw genti e S
TH (R) : IR H SIS SerTarel sl ogl 99 |

(A) T (A) 3R (R) HE § T (R) SEH! A B |

(B) <Ml (A) 3R (R) Terd €|

(C) (A) 7T € (R) ¥l T

(D) THI (A) 3R (R) W& € WG (R) T &A1& T © |

FU (A) : GURRR THT | R tefeqaeen faem gaq 19 & = fafd w g
TH (R) : AR T &l $5H 2

(A) (A) T& § iR (R) Terd 2|

(B) M (A) 3R (R) ¥& € T (R) Wl =AT&A & ¢ |

(C) THi (A) R (R) T ¥ IR (R) 3HH! AT B |

(D) TH (A) 3R (R) Tt 1

FF (A) : ATIR-Toh A Fagy Faef €

Th (R) : g  GsiHIcH a1’ & & €|

(A) THl (A) 3R (R) T €

(B) M (A) R (R) & § Y (R) SHH! AN T Te SAwIF Tl 2|
(C) M (A) 3R (R) W& & iR (R) SEah = § |

(D) (A) 7T € (R) W& €|

AT (A) - me(feasible)‘@ﬁ%l
HT‘%(R)Z Waﬂ?ﬂﬁﬁiﬁ(excess)aﬁ?ﬁ@ﬁ|
(A) 2 (A) 3R (R) & ¥ iR (R) =mem ¥

(B) i (A) 3R (R) T € W (A) W = T
(C) (A)TTeTd € W (R) T B

(D) (A) ®& & W (R) Terd € |
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29.

30.

31.

32.

Assertion (A) : Z test is applied to test for mean of population for large sample.
Reason (R) : All distributions obey central limit theorem.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A)is true, but (R) is false
(D) (A) is false, but (R) is true

Assertion (A) : India needs to spend a lot on Health Care.
Reason (R) : India has BIMARU states.
(A) Both (A) and (R) true

(B) (A) is true (R) is false
(C) Both (A) and (R) are true and (R) is the explanation
(D) Both (A) and (R) true but (R) is not the explanation

Sequencing Type (31-38) : Put the following in the sequential order of its
development.

(i) Revealed Preference Theory

(ii) Akerlof Lemon’s Market

(iii) Ordinal Utility Analysis

(iv) N. M. Utility Analysis

Codes :

A) @) @ @) W

® O @) @ (i)

© G @ @) 0

D (v @ @O )

(i)  Multiplier - Accelerator interaction and trade cycle
(ii) Keyne's theory of trade cycle

(iii) Sunspot theory of trade cycle

(iv) Hawtrey’s monetary theory of trade cycle
Codes :

A @ @ @) 0

® G @) @

© O @ @) ()

D) (v @ @ (i)
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29.

30.

31.

32.

FUA (A) : Z-TR THEA fa e & fau e e S )
TH (R) : T wiegs! famo dza faffe «im & egar 2a €
(A) T (A) 3R (R) T& € 3R (R), (A) FT TE =0 7|

(B) HI (A) 3R (R) T § T (R), (A) FI T =AwE T T
(©) (A) W& & g (R) T

(D) (A) eI &, W (R) W& 1

O (A) : YRA ! TS AT T g IGT T B |

TH (R) :  9RA | % T

(A) T (A) R (R) T E

(B) (A) ¥l T (R) TTed &1

(C) =i (A) 3R (R) W& § iR (R) 1= © |

(

)
D) T (A) 3R (R) T € W (R) STh! AR T2 7 |

GET IT ON
Google Play

feaqort : gy TE&T 31 @ 38 & 78 TR AIgar (faarra @1 gite @) fFrefoiiaa a1 agl

@) (i)
(iv) (i)
(i) (i)
i)

i)

i) TUR-@R& (Multiplier - Accelerator interaction) == fsha W& SAMIR <%k

(

(i) SATIR =Tk I HH I fag=

(iti) SATIR =7k sl HT&HE oG

(iv) SAMUR =sh bl (Hawtrey’s) Ble =1 g1 fagra

(@)
(@)
(i
(

iii)
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33.

34.

35.

36.

(i) Fei-Ranis Model

(i) Lewis Duel Economy Model
(iii) Todaro’s Rural Urban Migration Model
(iv) Jorgenson Testing of a Dualism Model
Codes :

(A) @) @ @) (@v)

B) @ @ @) (iv)

© @ @ @Gv) (i)

(D) (@v) @) @ (i)

(i) Intra - Industry Trade Model
(i) Comparative Cost Principle
(iii) Leontief Paradox

(iv) Heckscher - Ohlin Theorem
Codes :

A) (@) @) @) 0

® O @) @) @)

© ((v) @) @ @

D) @) () G @)

(i) Planning Commission

(i) Mahalanobis Model

(i) Plan Holiday

(iv) Rolling Plan

Codes :

A (@) @) 0

B (v) () @) 0

© (O ) @) @)

D) ) () @) )

i W.T.O.

(i) GATT

(iiiy HONGKONG SUMMIT

(ivy DUNKLE DRAFT

Codes :

@A) O @) @)

® v O ) )

© @) (v O )

D) () @) @) @)
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37.

38.

GET IT ON
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(i) WALRAS

(i) WICKSELL

(iii) J.S. MILL

(ivy MARSHALL
Codes :

A) () 0 () G
® O ) @) @)
© ((v) @) @) @)
D) () @) () @)
(i)  Neutral Fiscal policy
(i) Functional Finance
(iii) Balanced Budget
(iv) Compensatory Fiscal policy
Codes :

@A) O @) @) @
B () @) O )
© (v O @) G
O O ) () )

Matching Item (Q. Nos. 39 to 46) : This consists of two lists of Events / Theories / Models /
Statements etc. and the other of Authors /Years . The candidates are required to match an
item in one list with an item in the other and mark the correct matching option, given in

the code.

39. List 1 List 11
(@) Un-balanced growth (i) Hirschman, A. O.
(b) R and D and growth (i) Marx, K.
() Human Capital and growth (iii) Romer, P.
(d) Surplus value and accumulation (iv) R. Lucas
Codes :

(@ (b)) (o (@

(A) @) @) @) (1)
(B) Gv) (D) @) @)
© @ (@) (@v) (i)
(D) @) (v) @) (i)
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40. List I List 11

(a) Export Pessimism (i) Emmanuel, A.
(b) Un-equal exchange (ii) Prebisch, R.
(c)  Critical Minimum Efforts thesis (iii) Schumpeter, J.
(d) Innovations - Entrepreneurship (i H. Liebenstein
Codes :

(@ (b)) (0 (@
@) O @ @) W
B @) O @) ()
© ) @) @
D) (v @) 6 G

41. List I List 11
(a) Reserve Bank of India @i 1968
(b)  First Finance Commission (i) 1950
(c) Gadgil formula (ii) 1935
(d) Planning Commission (iv) 1952
Codes :

(@ (b)) () (@
(A) @) @& Gv) (i)
B) @) @@ @) ()
(© G @Gv) @ ()
(D) Gv) (D) () @)

42. List I List 11
(a) Investment Multiplier (i) R.F. Kahn
(b) Employment Multiplier (i) Milton Friedman
(c) Restatement of Quantity theory of money  (iii) A. Laffer
(d) Supply side economics (iv) J. M. Keynes
Codes :

(@ ((b) (o (@
(A) Gv) @ @) (i)
B) @ @@ @) (@)
(© Gv) (@) @) @)
(D) @) (@v) @) ()
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43. List I List 11
(a) Marginalist Revolution (i) Samuelson
(b) Multiplier Accelerator model (i) J. R. Hicks
() IS-LM curves (iii) Schumpeter
(d) Capitalism, Socialism and (iv) Jevons
Democracy
Codes :
(@ M () @
(A) (@v) @ @) ()
(B) (@) @) @) @O
(© @ @) @ v)
(D) @ Gv) () ()
44. List 1 List 11
(a) Product Differentiation (i) Sraffa
(b) Duopoly Analysis (i) Modigliani
() Production of commodities (iii) Cournot
by means of commodities
(d) Life cycle Hypothesis (iv) Chamberlin
Codes :
(@ M () @
@) (v @ 0 G
B () () @ @
© () O @) @)
O () ) @) ()
45. List I List 11
(@ Hy:w=pg Hy:pu>pg (i)  All Parameters of distribution are
specified
(b) Simple Hypothesis (i) Point estimation
(c) Consistency (iii) One sided test
(d) Py xPyp=1 (iv) Time Reversal test
Codes :
(@ M () @
A) () @) 0
® O (v @) ()
© (Gi) () @) @)
D) Gi) (v) ) @)
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Hmid wifd () SgTerEd

T[UTeh ek Higd (i) . AR e

IS - LM sk (iti) YEH

Yfae, HHTSETE T S (v) g

(@ B (© @

(iv) (@) (1) (i)

(i) @) () ()

(i) (i) @G  (@v)

@)  (v) (i) (i)

e 1 e 1l
3AE fa¥ed (Product Differentiation) (i U
fg-srfereRr fergersmn (i) HrETeEE
3Tl 5T A&l 1 IATRH

(Production of commodities (il) PRAR

by means of commodities)

Sia =ik gRaeRed T (Life cycle Hypothesis) — (iv) =FeRfed

(@ B (©© @
(v) () () (i)
(i) @v) (i) ()
() @) (i) (iv)
@) @) (v) (i)
el 1 e Il
Hy:p=po Hy >y (i) oo & Gt s Hewut T
A YRehed Tl (i) Teig UrerReH
THEI (i) THTIET T
Py X Pyp=1 (iv) e fawig o=
(@ B (© @
() (i) @) (iv)
@)  (v) (i) (i)
(i) (@) (i) (iv)
(i) (v) (i) ()
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46.

47.

List I List 11
(a) For independent events A and B i PANB)=0
(b)  For mutually exclusive events A and B (i) P(AnB)=P(A).P(B)
(¢ ACB (iii) Bayes theorem
(d) Conditional Probability (iv) P(B)=P(A)
Codes :

(@ ® (o @@
@A) (@) @) O G
B) @@ @ @v) ()
© @O G @v) (i)
(D) (v) @ @) (i)

Read the passage given below and answer questions from 47 to 50 based on your
understanding of the passage :

“The current situation reminds me of the world some seventy years ago. As the
world plummeted into the Great Depression, advocates of the free market said, “Not to
worry; markets are self-regulating, and given time, economic prosperity will resume.”
Never mind the misery of those whose lives are destroyed waiting for this so-called
eventuality. Keynes argued that markets were not self-correcting, or not at least in a
relevant time frame. (As he famously put it, “In the long run, we are all dead”.)
Unemployment could persist for years, and government intervention was required.
Keynes was pilloried - attacked as a socialist, a critic of the market. Yet in a sense,
Keynes was intensely conservative. He had a fundamental belief in the markets : if
only government could correct this one failure, the economy would be able to function
reasonably efficiently. He did not want a wholesale replacement of the market system;
but he knew that unless these fundamental problems were addressed, there would be
enormous popular pressures. And Keynes’s medicine worked : since World War 1I,
countries like the United States, following Keynisian prescriptions, have had fewer
and shorter-lived downturns, and longer expansions than previously.

During Great Depression, the advocates of free market argued that :
(A) Markets are prone to failure

B) Markets are self regulating

Government should intervene with the help of monetary policy

Government should intervene with the help of fiscal policy

J—0108 20
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el e Il
(a) FAA "R A 91 B & faw () P(ANB)=0
(b) TTER ATk AT i) P(ANB)=P(A).P(B)
AT B & foag
() ACB (iii) o=fE (Bayes) HH
(d) Hrarfeen FETed (iv) P(B)=P(A)
#S:
(@ M) () (@
(A) @) (@v) @ (i)
B) @) @ (v) (i)
Q) @) @) (v) (i)
(D) @Gv) (@ @G) (i)

e @ 7T 3797 T UW 3T U THSAHY 39 T TEMRA 47 @ 50 G¥1 & I ST -

oA feafa gt fava o6t 70 o Teel @t fefa &t o &dt ©1 e foava =71 6t (I
fedom) =t fearfd & R =1 T IR o1 &1 o, Fete STeiR % wmefet 3 &, ¢ e st
I L R, SR A1 -0 2 7, 9o 99F & Wy, e wgis g ura e’
forsy & Tfeg AT TE Hiereh SSTIRT %1 a5 § adaM | et et g8 31 W § 57!
feidT S T STEd & § 1 h=d ST BT o1 Toh TSR o1 Taa: fesrmn oot =2 § a1 6| § |
Treffia wm=r o gor =& ran | (St T ST wem yafea g, ¢ <eiafy 5, g9 geeh o g 1’)
RIS 2 ol dh 1@ el off q1 38 T TRPRT TEAGY i TEgdehal o | H=q
SR fohdll 71 — IHeh! FHISIATE | SISl 741, TSR ol A=k shal T | it Th gfe § a8
e Efedrdl o | 3HH ISR H FeAyd foavars o, afe e TaR 3 Tel H qahdt 8 A1 98
Teh ST ], STefeqawen 3T=st atg Hfed S | i o Wehell © 1 8 STSIR e o1 I
TE 9 wfeTed & e o, W 98 98 S o foh S qo 59 Hed SHenst %l SR T
&l T ST ad qeh 9T SAIRHd T SalTd o1 W | o o 39 fa=am (JT=rarsti) = s T,
gt fava-gg & 918, TIa ToT ST S <9 3 3T STIH0T fohall, 3 ogd ¥ U9 @Y
srafy & fau & Ot o1 WHAT T UEl, S Tee W AT foar ga |

TRl Hel (e Teuvm) o 9vd, fety SR & wHefi A qo foan o -
(A) ISR STHEA B i 31K 99d B © |

B) SIIRI ol T Bl |

TIHR ! YT AT F §RI ST HIAT =M

HEHR ! TR Hifd * §RI S&q HE1 =18 |
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48.

49.

50.

During Great Depression, Keynes was :

A) attacked as being an advocate of free market

(
(B) attacked as being an advocate of active monetary policy
(C) attacked as being a socialist

(

D) attacked as being an advocate of passive monetary policy

Keynes wanted :

A) Wholesale replacement of the market system

B

~—

(
( Socialistic system to be created for the world
(C) an unregulated market system

(

D) did not want wholesale replacement of the market system

By following the policy prescriptions of Keynes :

A) The world economy has suffered from prolonged depression

B

~—"

(

( The world economy has suffered from high rates of inflation
(C) The United states had fewer and shorter downturns
(

D) The United States had higher rates of unemployment in the post second world
war era.

-00o0-

J—0108 22


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

48.

49.

50.

TE-Hal (I fetwr) o wm o frefafeaa § 9 = 972
(A) ey TSR o FHede® & &9 H e 9|

(B) wfsra ggr1 fifd & wHefeh & &1 H S 9|

(C) T HHSEE! & &9 H IS & |

(D) Trfsra 71 ifd < THefe & &9 H e 9|

&g frfafea § 9 forgs 9a 5 972

A) SIS SHFET 1 g8 e § i

forea o foTu wHTSIETGT Sereen &1 fowar fohen S
C) sfafrafid sTsR sHereen

D) TSR el o1 T T8 | Yiaerae & =med & |

B

~—

(
(
(
(

0 g fuifa fifa 1 STERo ek :

A) Towa steieyereen &I 6 O 9 &fd g3 |

foea erefeaen =l Ha1 ¥hifd i 3o X 9 &fd g |
C) TR hl kY AU TTY-Siell Hal 1 3TIH @ |

B

~—

(
(
(
(

-00o0-
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